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7) 729 liters mixture of milk & water, the ratio of milk to water in 7:2. To get a
new mixture containing milk and water in the ratio 7:3, the amount of water
to be added is

1
v 2
3
4

56 liters
81 liters
71 liters
50 liters

~— N S S

AT : 729+9 = 81 so milk 81 x 7 = 567 and water 81x2 = 162
water added so milk is 567 and water should be 567 then water required
567-162 = 405
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22) | need to buy all sorts of things socks, shirts and knickers.



AN : AT (TEd ok like ICH AP | A4 such \3 as QM AR (P $6 )
I A3 ATHR 5 LR TS Ao X (T @S, XM 3R [T |

23) You're a brilliant cook! If | cook as well as you, | — a restaurant.

vl
2
3
4

could/ would open
could/ will open
can/ will open
can/ would open

~— N N

i : “aft T8 conditional ICPR BAIZA | AP AT 516 T If + subject + verb
A< past A + ....... subject + would/ could/ might + verb base form + extension.
IR Y3 O 9IS T3 AT | (DT FCDT AT SIS WM @HED Mors |

24) The man — robbed the bank has been arrested.

1) when he

v 2) whom sons had
3) who have
4) whose

YT : I1PS The man has been arrested 27 whose sons had robbed the bank
(TH (@RI AP GIRAING PRZ) A whose sons had X1 | ICPIK A3 TR (RCET IND
TG IETH T (SRPOR T |

25) Where were you at 2.00? ___a cave ".

I = IS 2 .00 KT 79[ 2 DI favT 0% | TR O AE 7 in a cave IV |

26) | hurt my leg | was playing football yesterday.



T 2 IS fAGR Structure TQER While 671 Past indefinite tense + while + Past
continuous tense.
AP WA SO PLIS (YK T WA AT AT (BT |

27) — crowded place this is!

A : Exclamatory 15 S & 'what a' phrase IRT A | B WK [GTO@
Exclamatory 317 515 Z@ I | @843 i) How + Adjective + a/an + N/P + N/ P +
Be verb! Example: How nice the house is!

i) How + Adjective + a/an + N/ P + N/ P + Be! Example: How beautiful a
flower is!

iii) What + a/an + N/ P + N/ P + Be! Example: What a fool you are!

iv) What + a/ an + Adjective + N/ P + N/ P + Be! Example: What a fine
picture it is!

v) What + a/ an + Adjective +! Example: What a fine picture!

@, N/ P e Noun 31 Pronoun. I0PR T3 B Sl 31 afb!

28) — either of you a doctor? Or,— you both engineers?

1) Are/ are

2) s/ is

3) Are/ aren't
v 4)1s/ are

AT = AT Each of Either of Neither of W3 *@ Plural noun 3T Pronoun ¢ 5
B verb 0 singular 201 B3 9¥F1ET is T | TR 2RO DT Both ™ plural verb
21 Are I5¥R | IR WS (OTHICR LT AP [P BTFR? T (OTH-T B3 [P AP |

29) I'm really looking forward to my new course.

1
v 2
3
4

to start
starting
start

started

N— N N N



QAT 1 ISR 2RI P QY S look forward to IR0 A OR “R]OT verb J- 51 ing
& |
IR T3 Tgd (TS SF PAR Gel) W A WI5Z SCAPFR T |

30) He didn't pass his driving test. He wishes he — it.

1) have passed
v 2) had passed

3) will pass

4) pass

A : oo ARERS AT WoFs1 F1 RIE wish + past perfect tense 36571 Sofiie
I Driving test Q <111 IO a1 AKIGT O Gy W[ 2, B2 had passed XJ|
IR Y3 MRS BTEAER @15770T A’ “[Per fofd cpet drczd | fofd Garfaed ad fofa
FRIPFTT BB T€|

31) Jane and John saved and saved and finally they buy the house of their
dreams.

1)
2) couldn't

v 3) managed to
4) could

M : AP managed to buy W Ao 11T | TR @ICET ORET SRS #ITHT I1 Q@ICAl
SIS SRR P19 mange to I
I ALY (T \3 T T 917 ST AT IR DR ORI BICH A MG P A0 Sy

XA |

32) What beautiful eyes &mash; !

1) she looks
2) does she have
3) has she

v 4) she has

AT 2 PR WA BT 5 O BT |

33) My uncle was — businessman to fall into that trap.

v 1) too shrewd a
2) a too shrewd
3) shrewd enough a



4) she has

T 1 AT 'too + Adjective + a' @A Negative W @1 aff tool ------- to SR
F4T | (TFA3 He is too a big man to sit the chair. (IR &7 1TOT DT A I G IO
N 1) AP DNY3 TR 5T5T Q00T REFT IR @ Fof 93 41 Tt o1 faca any

34) Some people have never known — it is like to be free.

1) what

2) when

3) which
v 4) that

T 2 PR A3 57 @16 U@ Bedfa @ aft s

35) Did you really say that? You — out of your mind !

v 1) were to have been
2) have had to be
3) must have been
4) should have been

AT : P 2157 1 Foss o “Be out of one's mind” phrase b 37@© 201 12 out
of one's mind Y3 % Be verb 2% were to have been 39X | IR T3 ATHE 5
OfY BT IRt ? Bft Sam I fsicafece |

36) “Don't worry one of the robbers" said a policeman to the gathering
crowd.

1
2
v 3
4

will be pursuing

are being pursued
is being pursued
have been pursuing

S~— N N N

AT : I one of the robbers W™ 51 verb b singular 231 13 is being
pursued I | TR GPIET IIPT One of AR [T subject plural 27 53 52 verb
f0 singular | @84 : One of the boys has done this.

PR T3 By TTA 1, TIFTOCR IIFSAP G- BEHOT PBTaRd T LR JFTT6 GAOID
BT IR e I |

37) You look you were expecting some bad news.

v 1) as though



2) really
3) although
4) almost

01T 2 AT As if 91 as though U9 k4 WX Present indefinite tense X 2K WX
Past indefinite tense 2| WIKK “[(I< WX Past indefinite tense X 2itIK ™I Past
Perfect tense 20| AR WS COTHID (T A7 S5 Cﬂﬁ@% CPTCAT YTTT YA (TS
mc@lll

38) At first | found learning English very easy, but now | don't think I'm — any
progress at all

1
v 2
3
4

showing
making
doing
getting

~— N N S

AN : T Make progress A3 Phrase 0511 IR0 X0 AIE | O3 WY T Ass1Rs 5714
PACO 4TI @FA : They failed to make any progress up the estuary.

IR Y3 2 ACH (AR 3RS CT4T 2 AR | 68 a4 orf, Ay «co (o8d @1
151G PACO AR |

39) The terrorist — send one final message before he was shot dead.

1) was used to
2) had better

v 3) was able to
4) used to

AT : IPY (IAT PG PRCO ¥ 237 oY 'Be able to' phrase I

40) My uncle died — the war.
1)in
v 2) during
3) for
4) via

AN ;YA ST F fA0eT FAO during the war 36T TR SRS 0T Jrad ST
FOIRAT 31 A "died during the war' X1 WK Die for W GO By T (PICAT H3Q
BORCT BT S5 BT |

JCPIA W3 WK HT6T YCaF ST FI<<<T PR |




41) Would you like to eat?

v
2
3
4

something
everything
anything
nothing

~— N N S

TN : IS would you like U3 #iR W3R to R 7 “fvg” face $900 something (o
I | PR T3 Tvfd 75 35 (S 51?2

42) Two buses start from a bus terminal with a speed of 20 km/ h at interval
of 10 minutes. What is the speed of a man coming from the opposite
direction towards the bus terminal if he meets the buses at interval of 8
minutes?

MM ; 41, ERPI6A @51 x kmph

QAF, 20 kmph Q51 10 AT WP 719 = (20+x) kmph &1 8 AT Oior s 717 27 |
TAC 20 x 10/60 = 8/60 x (20+X)

= 200 = 160 + 8x

= 8x =40

X =40/8 =5

- fat® @51 =5 kmph

43) What was the total budget proposed by the Finance Minister for
2021-20227?

1) Tk 602,381 crore

v 2) Tk 603,681 crore
3) Tk 604,661 crore
4) Tk 605481

~— N N S

AN = AR €0 OF (ATIOPTAIATR &> TF) 05-3 I GG IR0 AR e
Y,00,ub> (I TRAT (RERBIT ¥4.¢ %) | TWAHI W25 FIPT DT O A 0D S TGO T
(TR FEF 7R 2T T 00 T 203D T TR IRPI D TETIB 203D FHA | By, ICSCo
SIS W (]IS \3 THIASR) 0, 23,820 TG OIT (FARBIK 55.88 % ; ICSCHI WA.05 %)
TS W 0, b, 000 (PTG TRAT (RGN 0.50 % ;, ACSHA 0.9¢ %) ; (AT FAGI9 V8,¢w,080
T BT |



44) In Microsoft Word, first line and hanging are special forms of —

1
2
v 3
4

Spacing
Alignment
Indentation
Numbering

~— N N S

4 : Word processing < Indentation T Paragraph Q< 8 Q3R &K Blank
space, I Paragraph ©Fd B1d (AP IR TS #108 132 CTTH BT (WP BT FIiSd 2173

RS AP |

45) Aroom 5m x 8m is to be carpeted leaving a margin of 10cm from each
wall. If the cost of the carpet is Tk. 18 per sq. meter, the cost of carpeting
the room will be:

v 1) Tk. 673.92
2) Tk. 702.60
3) Tk. 682.46
4) Tk. 691.80

AT : QYT Crd &% QKK 10cm I IM (51
TS IR A6 23 = 8m - (L0%2) cm
=|8m - 20cm|

=|8m-0.2m|

=7.8m

3R 2% WRA PTG 2 = 5m - (10%x2) cm
CFaPA = 7.8 x 4.8 =37.44 I5TR

- TR’ 2R = 37.44 x 18 = 673.92 T

46) Abdul Monem Economic Zone is located in

1
2
v 3
4

Habiganj
Netrakona
Gazaria
Gazipur

AT : COR Ao @RI TRARGF Wee R 5B FTRCR (PR ARG I WAARGD
WIREET | 583 I TR \391 ARS© 0 TR WkeCe] Tnoid, Siasi [ifkea cear Rifdcserd
Rifacst 331 Qb ghisie G ST |

N— N N N



47) In order to obtain an income of Tk. 650 from 10 % stock at Tk. 96, one
must make an investment of:

1) Tk. 6,500
v 2) Tk. 6,240
3) Tk. 3,100
4) Tk. 9,600

I 1 I, 10 BT WK Gy RIACTT 300 2 = 96 BT
650 TP AR Oelf [IFACTTsT $900 20 = (96x650) / 10 = 6,240 TR

48) Who discovered blood circulation process of human body?

1
2
3
v 4

Giulio Bizzozero
Karl Landsteiner
Jan Swammerdam
William Harvey

N— N N N

AT : FH P VI TRRRGTar B3ferTd 2106, [T oUd F1a *RIEK I 5724 AfF
FEPCIR T STECE O G |

49) The hypotenuse of a right triangle is 2 centimeters more than the longer
side of the triangle. The shorter side of the triangle is 7 centimeters less than
the longer side. Find the length of the hypotenuse.

1) 15
2) 19
v 3)17
4) 13



MY ; QYTE J2BA IR, AMoes = BC = (X + 2) cm
JR8I 1R, AC = Xxcm

QI rod AB = (x-7) cm.

fOrISTRICR ST, (X + 2) 2 = x2 + (x-7)2
= X2+ 4Xx + 4 = x2 + x2-14x +49
=x2-18x+45=0

= x2-15x-3x+45=0

= X (x-15) - 3 (x-15) =0

= (x-15) (x-3) =0

AT, X = 15491, x = 3

QYI, X = 3 PATGIRN SRS |

S x =15

- R Afoge = x+2 = 1542 = 17 cm

50) A car owner buys petrol at Tk. 17. Tk. 19 and Tk. 20 per litter for three
consecutive years. Compute the average cost per litter, if he spends Tk.
6,460 per year.

1) Tk. 21.66
v 2) Tk. 18.58
3) Tk. 18.49
4) Tk. 19.20

AN ¢ > T IZH IR0 (PRGIER a1 6460/17 = 380 TR |
. T T2 IR0 (IGIER AR = 6460/19 = 340 0[|

. OF IR IR (PG AREIT = 6460/20 = 323 THH|
QRTCE, IRAG (AT AR

=380 + 340 + 323 = 1,043 bW |

. T’ fei0R 25 51T <6 = (6460x3)/1043 = 18.58 T8

51) Find the greatest number that will divide 43, 91 and 183 so as to leave
the same remainder in each case.

v1)4
2) 13
3) 7
4) 9

AN : 2ACT I A0, (T JIGH AT TRT 43, 91 I3 183 @ ©IsT FAH AT CF@ 133
OISO AT | 4 THT 43, 91 Q32 183 (@ I A ARGTHA \3 ©I5T O AR | QBT AT Ty
AR 2AfST0 FTATE 4 T[T ©15T FE @A AT |



52) Who developed Zoom app?

1
v 2
3
4

Larry Page
Eric Yuan
Zhang Yiming
Sergey Brin

~— N N S

1T 1 AT 2y TR afRie BSTE T Af5RT B | By, TF 3Tt OB\ Saerst
TS | 13 TR LT AP A Soo Td 8o AT fof6\3 FaeIEEt Ao oM | aft 2
T 205 FIeT ARG 27 WK U1 SRS PRI, TFALS TRIBO |

53) — is a network topology in which each network component is physically
connected to a central node such as a router, hub or switch.

1) Mesh topology

2) Bus topology
3) Ring topology

v 4) Star topology

AT : Star topology @O SRS FRENOTR QBT @A @0\3TRS SRR (5125, )
Y RIS AP | FRTOTRSE Hub 1 Swtich 3 FITE QG TR ST QTSTICTST I I
\3 (BT AMIG-21d B | (PIET PRRSTR (BT GBI PACO BT OT 2410 5 Hub 1 Switch
Q1 TR (| 91K Hub a1 Switch (1 RsTareicd ePsisid “1idc o | Sy, dRreTR
@BSAE QT FRARSTIRR FICA TR FRAGLIRL M5! IREID2 @O\ BCATEARS A0 |

54) Which port is used by Simple Mail Transfer Protocol?

1
v 2
3
4

) 55
) 25
) 34

) 21

AN : SMTP 3 “[iof 27 Simple Mail Transfer Protocol. &7 Spet (e 13 “ATSTCAT
2, TP IRFAN AT WIS BT (F3e I 2 | WIS GCsMRIL (RS AIICAR Ty I3 (AT
JIKRIK A | SMTP 1< Standard port X : 25, 587,465.

55) The name of the parliament of Norway is

1) National Parliament
v 2) Storting

3) Monarchy

4) Knesset



AT : TS W2 SO dTd A8 B’ |

56) An accurate clock shows 8 o'clock in the morning. Through how may
degrees will the hour hand rotate when the clock shows 2 o'clock in the
afternoon?

AT : T S, 12 IO IRGT TBR D161 360 © YR | QYd BT 8 BT (U Fo[ 2 BT ST &
6 T01| .~. face® fBsT= =1fanar = ((360/12) x 6)) = 180 °

57) The angle of elevation of a ladder leaning against a wall is 60 ° and the
foot of the ladder is 4.6 m away from the wall. The length of the ladder is:

A ; 43, AB 2 ¢RI U3k BC 02 73|

1d, Z ACB = 60° 132 AC = 4.6 0[]

1, AC/BC = cos60° = 1/2 [cos = GhRi/afogs]
= BC = 2xAC

LBC=2X%Xx4.6=9.2m

58) What is the currency name of Samoa?

AT : AR FAIK AT BT | SNSCOTH SIS fATBATR AR T (BTRRT | <11 s sifa g
arg fBam | (orF J4IRK T ¥ |

59) How many terms are there in 20, 25, 30 ........... 1407

1) 23
v 2)25
3) 24



4) 22

QYT ;9 SR = ((CTF 9% - AYH R / A1LFT ) +1
= ((140-20)/5)+1
= 25

60) If 4b2 + 1/b?, then the value of 8b3 + 1/b3 is?

A : (3T W, 4b2 + 1/b2 = 2

= (2b2) + (1/b) 2 = 2

= (2b +(1/b))2-2 x2b x 1/b =2

= (2b+1/b)%2=6

S 2b+ 1/b =V6

\ad, 8b3 + 1/b3 = (2b)3+ (1/b)3 = (2b + 1/b) 3 - 3 x 2b x 1/b x(2b+1/b)
= (V6)3-6V6 =6V6-6V6 =0

61) In MS word, which one of the following key will refresh or reload the

page.
vl
2

3
4

) F5
) F10
) F8
) F7
AT : Key board W3 & 3T, 50T 13 RO fbrzw [Rifed Key o@T sikae@ e
AP | TGFNE 25T Key board @O S Yo¢ 6 Key 02 |

O T QST (+), RS (<), A (%), SIS (/) 3R 0 (U 9 <193 (&6 va T Numeric Key a1z |
WK F1 (0P F12 *R/6 @6 a3 S b Function Key Itz |

62) — is a computer networking device that creates a single, aggregate
network from multiple communication networks.

1) Switch
v 2) Bridge
3) Hub

4) Router



AT : Bridge JFTHF @0\OTEA SRYT IR QI J2Q @6\3TRF (o I | Af SWaP61 Hub
1 Switch W3 JCOT| ATHE #114PT T Hub 1 Switch U3 @O\BARR [ife @oe 5ya
IR AGM Bridge QTP @O\ITRE@ YT I | @0\ TS FIRTS fod o (T,
fRCAT 3R SRS ) |

63) How many tribal groups are there in Bangladesh?

1) 26
2) 24
3) 25
v 4) 27
AR 2 P8 TN S F R 2f5dTa e 24 5 5w qosmd 8 Itk Sersieer Sy @iy |

JIRETTCT ISP GG F4W 8¢ B | IR 26T GGG BTPaT | IR RO

20 GG HN3TTE |

64) How many layers are there in the OSI networking model?

A
H W N B
Ul 00 N O

14T : 0S| (Open System Interconnection) FGAR 4 T @K 1 A SI5T T 3|
QBT T8 Application, Presentation, Session, Transport, Network, Datalink 4
Physical.

65) 3 pumps, working 8 hours a day, can empty a tank in 2 days. How many
hours a day must 4 pumps work to empty the tank in 1 day?

1) 11

2) 10

3)9
v 4) 12

A : 3 Pump &fSTd 8 991 @ 2 fcd @b I I (8x2) = 16 TUT

e 3 6 Pump 16 IO/ Tank 5 et 300 “1_@ |

QR 700 27 4 f6 Pump 1 fcd 36 T/ Tank 0 21fet 960 “1R@? 3  Pump tank «ifet
P 16 ITR

.45 Pump tank ¥ 3 (3x16)/4 = 12 TGN



66) A shopkeeper earns a profit of 12% on selling a book at 10% discount on
the printed price. The ratio of the cost price and the printed price of the book

is?
vl
2

3
4

) 45:56

) 47:51

) 47:56

) 45:51

40 : Let, printed price = 100tk

So selling price after 10% discount = 100-10 = 90
Now, 12% profit in 90 tk

So, 112% = 90 then 1% = 90/112

So, the cost price 100% = (90x100)/112 = (45%x45)/14
So, the ratio of Cost price and printed price is = (45%25)/14:100 =
45x%25:1400 = 45:56

67) How many inland port are there in Bangladesh?

1

N

v

w

) 7
)9
)11
4) 17
AT : TSI IR TOTINT FAT AU (T HEATDE FoRTECT ITREATRT TROISANT (AR
FEoP (ROTRG R D) Q3R IREACTT TSN (Aol 5131 (RRe RS b) s 7
AR A2 | RARGRS B9-a7 1578 AT WG TEHICT AILAKT (G 33 6 )17 aRena
S(eey

68) The ratio of the number of boys and girls in a college is 7: 8. If the
percentage increase in the number of boys and girls be 20 % and 10 %
respectively, what will be the new ratio?

1) 17:18
2) 8:9

v 3) 21:22
4) 18:19

AT : 41, 2T R 7X T Q32 21 ANZ 8X O |
. 20% M0 BICIR FAT |

=120% 93 7x = 42x/5 S|

ORI, 10% IR0 RIGK 5T



=110% 1< 8x = 44x/5 Gd
. T TATG = 42%/5 : 44x/5 = 21: 22

69) If A and B together can complete a piece of work in 15 days and B alone
in 20 days, in how many days can A alone complete the work?

v 1) 60
2) 30
3) 45
4) 40

A - one days work of A= one days work of (A+B)- one days work of B=1/15
-1/20=1/60,s0 days needed to complete the work by A alone =60 days

70) What is the capital city of Papua New Guinea?

AT ¢ 21T fTS TSR ATSTAT 2T (916 TSR AR TR O AT e GIoRl 5L |
T, AT TSI 2Ps Farsvsia aio Grer 1181 «ft \soafar seesR caea<r ke
TR | AT RIrad sTay SuFifak et (i Qs iorn ordia s 511 @i 3| Svae e
it TCRRIR AP0 (W TITo! &M I |

71) A student scores 55 % marks in 8 papers of 100 marks each. He scores
15 % of his total marks in English. How much does he score in English?

1) 45
2) 44
v 3) 66
4) 77

T : 8 5 “ftar (16 a9 8 x 100 =800

1 GIG 9T = 800 7 55 % = 800 x 55/100 = 440
-, 57 3w oreafes

=440 93 15% = 440 x 15/100 = 66 a9

72) When did Bangabandhu satellite- 1 launch?

1) March 17, 2018
2) April 5, 2018



3) February 12, 2018
v 4) May 11, 2018

AT : IR SHICGATRP - IRSAHCR AU BEI QSIS \3 FRABTR Bo4s1z | Afb 2050 R O
G (IR ST S (F) ARG 5 GFOR (WP BT BT |

73) The population of a village decreases at the rate of 20 % per annum. If
its population 2 years ago was 10000, the present population is =7

1) 7600

v 2) 6400

3) 6000

4) 4600

T 2 ST I ICH T,

=10,000 W< 80% = 10,000 x (80/100)=8,000 &d|
U IR P W

= 8,000 J7 80% = 8,000 x (80/100) = 6,400 Td
QAQ IOHT ETRPHLAT = 6,400 O |

74) Who is the highest centurion in Test as a cricketer of Bangladesh team?

1) Shakib Al Hasan
2) Mushfigur Rahim
3) Tamim Igbal

v 4) Mominul Haque

N— N N N

JTTAT : 0D HAE 3G GCGH AT AT 200 FNRAEL 7T (G76 el d gt 2381 99
B AIRFATTCR IOATATH FIRN (75 [P WA iReR] Ao e fofd | 3 @mest » o
IR GIER T Qe N fore1d orfad Q3R Jiige |

75) There is 60 % increase in an amount in 6 years at simple interest. What
will be the compound interest of Tk. 12,000 after 3 years at the same rate?

1) 3,420
v 2) 3,972
3) 6,240
4) 4,972

14w : 4T}, (10 BT 100

. 6 I2K 2 10 TP X

=100 + 100 x 60 % = 100 + 60 = 160 TI
5f (Simple Interest) =160 - 100 = 60



SR AR r = (100x60)/100%x6= 10 %

ST Sfd, 5@ Farel = P (1 4 r)" [9¥0d p = §94d = 12000,r = rate = 10 %, n
SRl = 3 4]

= 12,000 x (1 + 10 %)3 = 12,000 x (1.1)3 = 15,972

- 5@ gareT = 15,972 - 12,000 = Tk. 3,972

76) Where is the Mojave Desert located at?

v
2
3
4

United States
Northern Africa
Syrin

South Africa

~— N N S

AT : Mojave Desert T YGRS QPTD FFET Qe | 7o PUAPIRIR QB 75
WX, YT PICACPIRIN g T, 73T ([Forol, 7ARFI95d 3001 13 BuI=ed fReadn
T 3 Tl RO | 13 TP QIR ATHPAT BT A AHNPR NHITA! (511G CHRANGK AT
TR | i FeTo QA TS @6 (OISR DIReET AR |

77) The planet that moves round the Sun at the highest speed is

1) Jupiter
v 2) Mercury

3) Neptune

4) Venus

AT 2 5 IO 0K [T ¢.b (I1D RCAIGR | 9ff 576 b Tcd emPRee 91 | afb 5[ o
S SR MBI | Qf Food \3 5K [RPTOH 5131 W1 STRYRST 89,0 W [RACETRTR/ (PG |
W3 TS 8,bbro FRAERIBR W3R 3T TR 3SR 0.9 TR | 93 51275 GGG SRG (ZI6
513 B SR TRYPTT PR SFIL TCECS D T | O3 QK AFHT BIFTAR 5K, TP
fERRPTCTR TSN AP | YRR > e A ¢t e Ya TBR T | I3 50 @I SR (R

78) 66 cubic centimeters of silver is drawn into a wire 1 mm in diameter. The
length of the wire in meters will be

v 1) 84 meters
2) 336 meters
3) 90meters
4) 168 meters

T : QA O S = 15 A = 1 T
IR QRO = T1r2
QYT (T AR, 2r = 1mm



=r=1/2mm = 0.5mm = 0.05cm.

2T, 1rél = 66

= 22/7 = (0.05)2 x | = 66

= | x 22/7 x 0.0025 = 66

=~ 1= (66x7)/(22%0.0025)=462/0.055 = 8,400cm
WIQ BIRR s 8,400cm {1 84 0K |

79) The three rational numbers between 3 and 4 are:

1) 5/6; 6/2;7/2

v 2) 13/4; 14/4; 15/4
3)11/4;12/4;13/4
4) 12/7;13/7; 1477

AT 2 3 \3 4 A7 T FAY A = (3+44)/2 =7/2

A, 3<7/2<4

WK, 3 Q3R 7/2 I FHT e SAW X = (3 + (7/2)) /2

= 13/4

WRK, 7/2 Q3L 4 Q< LT FM FALYT AT

= ((7/2) +4) /2 = 15/4

AYId, 3<13/4 <7/2<15/4 <4

AR 3 < 13/4 < 14/4 <15/4 < 4

WO, 3 \3 4 Q7 FRO! FeTn NRANSTeT 21 13/4, 14/4,15/4

80) Who is the first female deputy governor of Bangladesh Bank?

1) Shirin Akhter

2) Nazma Akhter

3) Humaira Azam
v 4) Nazneen Sultana

T 2 JRSATCCT AP AU AT (SARS WIASIK (2000 FICEA), o3 ARBTEP (2005 )
W3R (BfD SIS (2053 FICET) T @57 ATGAId SEToTal | S, AT MBI LY TN
HAfIBTETP AT DITIOIPT ATl @ST |

81) Which is the first illiteracy free district of Bangladesh?

1
2
3
v 4

Cumilla
Magura
Sylhet

Jessore

N— N N N



AT+ FrEYrad o’ v FBGIRR, 9D I IR AU XFHF (SR (TR Ao I | T2
JrEYrad SR TCTR T2 b 9 GIIRA QORI | Q GIRE TSR 3T (BTYHT U2 TSR T
HARd 3 P fored |

82) In triangle ABC, if AB = BCand 4B = 70 °, LA will be:

1) 110°

2) 70°
v 3) 55°

4) 130°

AT : AB = BC

O3, £ BAC = ZBCA TJ|

=/ A= /LCTH|

ARy, fagrer foameicer s1f® 180 © Wid, ZB = 70 ° I LA + £LC = 180 °- 70 °=
110 ° Q|

- /A+ LA=110°

2/A=110°

. LA =110°/2 = 55°

83) — perform Internet Protocol blocking to protect networks from
unauthorized access.

1) VoIP
v 2) Firewalls
3) proxy Servers
4) Routerse. Cookies

AN : Firewalls @ Set of rules, IR T IRBHIER Incomeing W32 Outgoing
(GO 2R[T2 f1gT \3 2fmSTd O fRPe0R P41 I/ | Firewalls O FMETR (W Ol SEROTIR
CIZATS AT T (T \3 HIBR WFHT AT IR (WP T A |

84) What is the length of Dhaka Metro Rail?

T+ BTPT CHCGIRCER s 20.5 FACANGR | BTy, 55 (& 303D S MO 362 2
(IEIERER AIPFTHAP 5B (T IR (DIPH G0N (HGIREH FBoTD) TR % WISTT 2035
T WP APGI TR SRINGTE AIH AP G ST 2 |



85) Which country is called the land of poets?

AT = wB a1 e SRk ¢p e 23

86) If a3 =117 + b3 and a = 3 + b, then the value of a +b is?

=a-b=3 ... (i)
FRIPAT (i) 20 M3,
a3 -b3 =117

= (a-b)3 + 3ab (a-b) = 117

=33 4+ 3ab x 3 =117

=27 + 9ab =117

= 9ab = 90

~.ab =10

Y[ QAT Sd, (@a+b)2 = (a-b)2 + 4ab
= (a+b)?2 = 32 + (4x10)

= (a+b)2 =9 + 40 = 49

S a+b =v49 =7

87) It was Sunday on Jan 1, 2006. What was the day of the week Jan 1, 20107

1) Satruday
2) Sunday
v 3) Friday

4) Wednesday

I &

2006 2007 2008 (Leap year)2009 2010
Sunday MondayTuesday Thursday Friday



88) A motorboat, whose speed in 15 km/hr in still water goes 30 km
downstream and comes back in a total of 4 hours 30 minutes. The speed of
the stream (in km/hr) is:

1) 6 km/hr
v 2) 5 km/hr

3) 4 km/hr

4) 10 km/hr

AT : 4R, EICET @ST x kmph
IO, (30/(15+x)) + (30/(10-x)) =4.5
= (30/(15+5)) + (30/(10-5)) =4.5
= 30/20 + 30/10 = 4.5

= 30/20 + 3 =4.5

= (30 +60)/20 =4.5

= 90/20 = 4.5

=45=45

. (JICK @515 km/hr

89) What is the deepest river in Bangladesh?

1
2
v 3
4

Brahmaputra
Padma
Meghna
Jamuna

N— N N N

AT : TS, % \3 STOIROR (oK I8 il 3T | 53 QAT (3 aRiThR XT1-AT a1 SCeT e
5O \3 TIRIOTT JRITD BIRIRR 217 (AP IGTIASR 2RI T \3 (AR oo YRR 2[120
AT | BT, FA0I 7df Vo Fefg, 517 59,00 HER VIR STOROT o/ 34 AR |

90) If A and B together can complete a work in 18 days. A and C together in
12 days, and B and C together in 9 days, then B alone. can do the work in:

1) 18 days
v 2) 24 days
3) 40 days
4) 30 days

AW :(A+B+A+C+B+C)ad1 RIS

= ((1/18) + (1/12) + (1/9)) = (2+3+4)/36 =9/36 =1/4 T
= 2 (A+B4C) 93 1 M I = 1/4 DA

" (A+B+C) 97 1 T IS = 1/(4x2)=1/8 T



~. B 1 1 MR & = (1/8 -1/12) = (3-2)/24 = 1/24 T
9¥d, B J3T 1/24 T TR A = 1 faed
. B a1 1 1 5794 QX PTS IH = (24x1)/1=24 e

91) "ANDINA" is the news agency of

v 1) Peru
2) Oman
3) Belarus
4) Algeria

A ; Ry Rarms g 513w 51231 7eTg aforas - e | f9aT - 3915, 391 - 3914 (el -
P

92) A normal CD-ROM usually can store up to data?

1) 680 Bytes

2) 680 KB

v 3) 680 MB
4) 680 GB

YT : CD-ROM 9 (BTT SRIFCR T (TSR IR FACHF AR T o 51 5318 P12, 1
Pits a1 <iiRfow | QI CD-ROM W< Q00 (F5TRIRG <13 YK FHOT WG |

93) A man purchased a cow for Tk. 3,000 and sold it the same day for Tk.
3600, allowing the buyer a credit of 2 years. If the rate of interest be 10 %
per annum, then the man has a gain of:

0%
10%
7.5%
5%

v
2
3

)
)
)
4)

T ; 51F P O &re A = 3,600 3,000 = 600 51T

Q¥d 3,000 TTHT 10 % 2R 2 IR Glf RIS FAE 5K FAPT T =(3000 X 10 x 2)/100 =
600 T

WA TR B GHCA TS AR T 28T’ 3V PRGBS = 600 - 600 = 0 TRT 1S I |

94) In triangle PQR length of the side QR is less than twice the length of the
side PQ by 2cm. Length of the side PR exceeds the length of the side PQ by



10 cm. The perimeter is 40 cm. The length of the smallest side of the
triangle PQR is:

1) 6cm
v 2) 8cm
3) 7cm
4) 10 cm

AT : AYd O A, faoEivd AIiRkAE 40cm
PTG, X + X + 10 + 2x - 2 = 40

- 4x + 8 = 40
- 4x = 32
Lx=32/4=8

QI PIOT IR AT PQ = x =8 cm

95) Kamal started a business investing Tk. 9,000. After five months. Sameer
joined with a capital of Tk. 8,000. If at the end of the year, they earn a profit
of Tk. 6970, then what will be the share of Sameer in the profit?

v 1) Tk. 2,380
2) Tk. 2.280
3) Tk. 2,260
4) Tk. 2,300

AT 2 QYTC, PTA \3 AR RIATSR QW = (9,000 x 12) : (8,000%7)
=(9 x12) : (8 x 7) [WRY, ¢ A I Q15 PER(Z]

=27 .14 QYd OIR T 27 +14 TGS FArpT 60 I |

<. SR AR = 6,970 IJ 14/ (27+14)

= 6,970 I7 14/41 = 2,380 T°T |

96) A train 125m long passes a man, running at 5 km/ hr in the same
direction in which the train is going, in 10 seconds. The speed of the train is:

1) 45 km/ hr
v 2) 50 km/ hr
3) 54km/ hr
4) 55 km/ hr

AT : /@ DI, Train 09 s1R6@sT = x km/ hr

", (CTRAIOR SCCF) Train 07 51Ro@st 2002 = (x - 5) km/ hr

[P 515 0P3 W@ 29T Train O ACARFP @1 31 = Train U] SIROEST - @TRPI0R 5101
9144, Train 09 10 seconds 1 WARFF @51 52 125 meter



. 2ff5 IO =(125x60x60)/(10x1000) km = 45km DA€ Train 13 AT @51 = 45
km/hr

x-5 =45

S X =50

. Train o3 s1f5sT = 50 km/hr

97) Father is aged three times more than his son Ronit. After 8 years, he
would be two and a half times of Ronit's age. After further 8 years, how many
times would he be of Ronit's age?

vl
2
3
4

) 2 times

) 2.5 times.

) 2.25 times

) 2.75 times

AT ; 47, “ICa9 I x I29

- T9MOR I = X + 3x =4x

8 124 7, (4x+8) = (5(x+8))/2

= 4x + 8 = (5(x+8))/2 [2CT Three times YR 96K 377 3x 0TI Three times
more than APR (X+3X)=4X]

= 8x + 16 = 5x + 40

=>X=24/3=8

X =24/3 =8

GYd (YR (8+8) = 16 I2F 27 91013 1@ 2 = (4x+16)/(x+16) = (32+16)/24
=48/24 =2 B4

98) The Android operating system is the embedded version of

1) UNIX

v 2) Linx
3) Windows
4) macQOS

YT 2 IHAE Smart phone A3 IS IO AATRILR HCETE 2@ Linux. aft aicde fRefee
Android operating system. ST, Yoo S fPaits 7@ a1 GRSRBS Linux

TR I |

99) SMPS stands for

v 1) Switched Mode Power Supply
2) Start Mode Power Supply
3) Store Mode Power Supply



4) Single Mode Power Supply

Y : SMPS X Q9 49K Electronics Power Supply 31 Transformer Power

Supply a3 g ¥ Iz 2002 | I3 IRRAER TARGH AT IIRT AT TETPIAIEL Qetand
\3TCA IEPT, WP (Z6 Q% B WS 546 Tl |

100) How many non-bank financial institutions are in the financial market of
Bangladesh ?

1) 18
2) 07
3) 12

v 4) 33

T : List of Non Banking Financial institute in Bangladesh. At present 33
Non-Bank Financial Institutions are working in Bangladesh. There are 2 are
totally state owned, 15 are local private and 15 are joint venture with foreign

investor under Financial Institution Act, 1993 and controlled by Bangladesh
Bank.

TR IGR 2fd WK “RPF1 fd I [t et omRsies a3 fics fofes a3 live.hellobcs.com
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